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128 Chapter 6 • AVERAGES 

PRACTICE PROBLEMS 6.1: Averages 
o Calculate the arithmetic mean for each problem below. 

mg/L rnglL	 MGD 3. mg/L1.	 2. 
146 149 0.91	 2470 
130 158 0.83	 2185
151 164 0:97	 2316
132 1.36	 A \ \ = 7~2Y1.15	 2>= \4+ 0.84 
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4.	 lbs lbs 5. IDyL mg/L 
4620 4780 42 45
4130 4640 48 41
4910 4270 39 49
5300 4480 36 52 
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o Determine the arithmetic mean and median for problems 6-8. 
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o Determine the mode value for the following data sets: 

9. Mode value for problem 6	 10. Mode value for problem 7 
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PRACTICE PROBLEMS 6.2: Moving Averages 

o Calculate the lust five 7-day moving averages for each problem given below. 

1. Day SVI Day SVI 2. Day rngjL Day mgjL- -
1 110 7 13"3 1 260 8 308 
2 105 8 126 2 225 9 297 
3 113 9 131 3 232 10 269 
4 123 10 122 4 221 11 273 
5 140 11 124 5 246 12 256 
6 117 6 283 13 281 

7 324 14 262 
=1 17...C) '-\ I L 1­ = \ 7 'j{~ l.l 71-C; 

"1­ \ 22. -s \].cc, 71 / 3 s, LYJ(pi.. 

., '1. (I? :, 1"t-3,~, 

o Calculate the fIrst four 5-day moving averages for each problem given below. 

3. Day EYl1L Moving Average 4. Day m'E/L Moving Average 

1 24 1 136 
2 18 2 152 
3 16 3 145 
4 21 4 167 
5 28 ""2.\ 5 151 ISQ 

6 24 J \ 6 174 \ SCA 
7 33 "2...l-J 7 149 \(.,1­

8 22 I I" 8 136 ISS 
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PRACTICE PROBLEMS 6.3: Weighted Averages 

o In problems 1 and 2, calculate the weighted average using lO-pt groups. How does this 
arithmetic mean compare with the one calculated without grouping? 
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